
Hello,

I object to the destruction of the Green Belt in Oakwood and Enfield for the following reasons:

Nature is limited as it is in London
The wildlife will be affected
The future generations will be affected
Climate change - we need to preserve nature
Over population
Co2 emissions raised due to more people, more cars on the road.. in turn causing health risks and air pollution. 
Property & area value decreasing due to area becoming less attractive due to over population and more concrete 
buildings.
Schools are already over populated as it is
The endless disruption to the locals who have to deal with the constant noise pollution caused by the 
construction of these new developments

Please re think your strategy,

We must protect the Green Belt.
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